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D OOl MAES KB (SEHSSA/HSSL -

B9l Ol AAEE X (Et51:82)
SN HE . G(B(T) - NIEAY - HES Ol JZw FfmE=CTE
O ED 7,637,156 7,594,918 42,238
= 1,660,362 1,620,362 40,000

Xl 330,000 330,000 0

J| 39,070 14,082 25,038

T 5,607,724 5,630,524 222,800

Olgdol MAES XA (SEHMHSSA/HLSA - OE) 7,515,288 7,473,050 42,238
= 1,660,362 1,620,362 40,000

Xl 330,000 330,000 0

| 39,070 14,032 25,038

== 5,485,856 5,508,656 A22,800

HgMaas X2 4,136,690 4,111,652 25,038
= 711,000 711,000 0

| 39,070 14,032 25,038

T 3,386,620 3,386,620 0

Ol 2dREZ XJA(FTA)(Z1) 39,070 14,082 25,038
J| 39,070 14,032 25,038

308 XXX SOl ™ 39,070 14,032 25,038

| 39,070 14,032 25,038

01 RIXSHIAEEZ 39,070 14,032 25,038
OFTAIINEX =NEAM XA 30,570 5,532 25,038

| 30,570 5,532 25,038

THoHOlE X OHEN EHE 1,073,509 1,103,509 A30,000
= 119,622 119,622 0

Xl 192,000 192,000 0

& 761,887 791,887 230,000

oexEd 2g2el 580,000 610,000 230,000
401 AIEHIZL 2T 277,000 307,000 430,000

01 Al &t 277,000 307,000 230,000
ORI EH Il ¥ KA 232,000 242,000 210,000
OCHSHSEHACIAIRA SALULBA 45,000 65,000 220,000

=D |sEg Y Hazel 849,149 801,949 47,200
= 429,740 389,740 40,000

X 138,000 138,000 0

T 281,409 274,209 7,200

HOEAHOXRK(=1) 47,200 0 47,200
= 40,000 0 40,000

= 7,200 0 7,200

308 XtXIHHSOIH 47,200 0 47,200

= 40,000 0 40,000

T 7,200 0 7,200

01 RIXEHBAEEZ 47,200 0 47,200
OAHNUEAHO XA 47,200 0 47,200

= 40,000 0 40,000

< 7,200 0 7,200
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